240-35177 000

Wall Mount Isoflex 32-55

Zubehor TV
Toebehoren TV
Accessories TV
Accessoires TV
Accessori TV
Accesorios TV

Montageanleitung, Montage-instructies, Installation instructions,

Instructions de montage, Istruzioni di montaggio, Instrucciones de montaje

LOEWE.




i\/\/iall Mount Isoflex / Vesa Size Adapter 2-

Montageanleitung Instructions de montage

_Montage-instructies Istruzioni di montaggio

Installation instructions Instrucciones de montaje

Sicherheitshinweise @

Veiligheidsvoorschriften b

Safety instructions

Beachten Sie die Informationen der Anleitung.
Lassen Sie im Umgang mit Werkzeug die nétige
Vorsicht walten. Stellen Sie thre Geratekombinati-
on so auf, dass sie, z.B. flr spielende Kinder keine
Gefahrdung darstellt und auch nicht beschadigt
werden kann.

Des weiteren haben die Sicherheitshinweise flr
unsere TV-Gerate auch hier Glltigkeit.

Neem de aanwijzingen in de handleiding in acht.
Wees voorzichtig bij het werken met gereed-
schap. Stel de apparatuur zo op dat ze geen
gevaar vormt voor spelende kinderen en ook niet
kan worden beschadigd.

Verder gelden hier ook de veiligheidsvoorschriften
voor onze tv-toestellen.

Observe the information in the instructions.
Handle tools with the necessary care and atten-
tion. Install your combination of equipment in
such a way that it presents no danger to playing
children for example and also can not be dam-
aged.

The safety instructions for our TV sets also apply
here.

Instructions de sécurité &

Indicazioni di sicurezza D)

Advertencias de seguridad @®

Veliillez observer les informations du mode d'em-
ploi. Soyez prudent lors de I'utilisation d’outils.
Positionnez votre combinaison d'appareils de telle
sorte qu'elle ne représente p. ex. aucun danger
pour des enfants en train de jouer et qu'elle ne
puisse pas étre renversée.

Par ailleurs, les instructions de sécurité relatives a
nos téléviseurs sont également valables ici.

Osservare le informazioni riportate nelle istruzioni.
Utilizzare gli attrezzi con la dovuta cautela.
Installare fa combinazione di apparecchi in modo
tale che non possa essere danneggiata e che non
rappresenti un pericolo, ad esempio per | bambini
che giocano.

Anche in questo caso valgono le norme di sicu-
rezza relative ai nostri apparecchi TV.

Respete las instrucciones del manual. Manipule
las herramientas con las precauciones necesarias.
Instale la combinacion de aparatos de manera
que no presente riesgo de lesiones, p. gj., para
nifios que estén jugando cerca, y de manera que
no pueda sufrir dafios.

Por lo demés, las advertencias de seguridad de
nuestros televisores también tienen validez en
este caso.

Lieferumfang Wall Mount Isoflex @

Leveringsomvang Wall Mount Isoflex (D

Scope of delivery Isoflex Wall Mount

A Wall Mount Isoflex (komplett montiert) A Wall Mount Isoflex (kpl. gemonteerd) A Isoflex Wall Mount (completely assembled)
B 2x Randelschraube Kunststoff M6x20 B 2x Kartelschroef kunststof M6x20 B 2 x plastic knurled screws M6x20
C  2x Sicherungsholzen Innengewinde M6 C  2x Veiligheidsbouten binnenschroefdraad M6 C 2 xsecuring bolts, internal thread M6
D 3xKlettband D 3xKlittenband D 3 x Velcro tapes
B 2x Senkkopfschraube M6x16 Innensechskant SW4 E 2x Verzonken schroef M6x16 binnenzeskant Sw4 g 2 xcountersunk screws M6x16, hexagon socket,

. key size 4
F Gewebeschlauch F Weefselbuis .

F Fabric sleeve

Contenu de la livraison Wall Mount ) Contenuto della confezione Wall D Volumen de suministro del Wall D

Isoflex

Mount Isoflex

Mount Isoflex

A Wall Mount Isoflex (complétement monté)

B 2 vis moletées en matiére plastique M6x20

C 2 axes de blocage filetés M6

D 3 bandes autoagrippantes

E 2 vis & téte fraisée M6x16 4 six pans creux SW4
F Gaine en tissu

Wall Mount Isoflex (compl. montato)

2 viti a testa zigrinata in plastica M6x20

2 perni di fissagglo filettatura interna M6

3 fascette in velcro

2 viti a testa svasata M6x16 esagono incassato SW4
Guaina in tessuto ’

MmO N W >

iy

88

Wall Mount Isoflex (compl. montado)
2x tornillos moleteados de plastico M6x20
2x pasadores de fijacidén con rosca interior M6

3x cintas de velcro

2x tornillos de cabeza avellanada M6x16 hexdgono
interior SW4

Tubo flexible

momogonNn W >




B Wall Mount Isoflex / Vesa Size Adapter -3-

Montageanleitung Instructions de montage

Montage-instructies Istruzioni di moniaggio

tallation instructions Instrucciones de montaje

Montage @

Montage @

Installation

Die Tragfahigkeit der Wand und die Befestigung
des Wall Mount liegen in threr Verantwortung.
Auf Grund der vielfaltigen Wandbaustoffe und der
damit unterschiedlichen Befestigungsarten haben
wir kein Befestigungsmaterial beigelegt.
Besorgen Sie sich das fiir Ihre Wand geeignete
Befestigungsmaterial im Fachhandel.

Ziehen Sie gegebenenfalls einen Bausachkundi-
gen zu Rate.

Vergewissern Sie sich, dass im Bereich der
Bohrungen keine Leitungen / Rohre liegen.

U draagt zelf de volledige verantwoordelijkheid
voor het draagvermogen van de wand en voor de
bevestiging van de wandhouder.

Op grond van de grote verscheidenheid in
bouwmaterialen en de daarbij behorende
bevestigingsmethoden hebben wij geen
bevestigingsmateriaal bijgeleverd.

Koop het passende bevestigingsmateriaal voor
uw wand in een gespecialiseerde winkel.

Doe eventueel een beroep op een bouwexpert.
Vergewis u ervan dat er ter hoogte van de boringen
geen leidingen / buizen lopen.

You are responsible for the wall’s load bearing
capacity and the fastening of the wall holder.
Because of the different wall materials and
different types of fastenings we have not included
any fastening material.

Buy suitable fastening material for your wall from
a dealer.

Consult a building expert if necessary.

Make sure that there are no cables / pipes near to
where you drill the holes.

Montage @

Montaggio a

Montaje D)

Vous étes responsable de la force portante du
mur et de la fixation du support mural.

Nous n'avons joint aucun matériel de fixation en
raison de la multitude de matériaux de construc-
tion utilisés pour les murs et ainsi, des différents
types de fixation correspondants.

Veuillez vous procurer le matériel de fixation
approprié a votre mur dans un magasin spécialisé.
Demandez éventuellement conseil 4 un expert en
construction.

Assurez-vous qu‘aucune conduite et aucun tuyau
ne se trouvent dans la zone de percage.

@

& Ihr TV-Gerét muss mit dem passenden dieser vier
VESA Size Adapter (K) am Wall Mount Isoflex
befestigt werden,

@

& Uw tv-apparaat moet met de passende van de vier
VESA size adapters (K) aan de Wall Mount Isoflex
worden bevestigd.

Your TV set must be fastened to the Isoflex Wall
Mount with the suitable one of these four VESA size
adapters (K).

@

& Votre téléviseur doit étre fixé sur le support Wall
Mount lsoflex avec I'adaptateur correspondant
parmi les quatres adaptateurs VESA (K).

@D

& Il televisore deve essere fissato al Wall Mount Isoflex
con un adattatore VESA Size (K) da scegliere tra i
quattro disponibili.

@

Su televisor se debe fijar al Wall Mount Isoftex con
uno de estos cuatro adaptadores VESA Size Adapter
(K) adecuado.

Spetta all'utilizzatore finale determinare ta capa-
cita portante della superficie e fissare il supporto
a parete.

Il materiale delle pareti e di conseguenza i tipi

di fissaggio possono variare notevolmente, nella
fornitura non ¢ stato pertanto incluse alcun tipo
di materiale di fissaggio.

Procurarsi il materiale di fissaggio adatto alla
propria parete presso un rivenditore specializzato.
Eventualmente richiedere la consulenza di un
esperto in materia.

Accertarsi che in prossimita dei fori non passino
cavi / tubi.

ij Wall Mount Slim VESA Size 400

Art.-Nr.:71361T00

Wall Mount Slim VESA Size 200

Art-Nr.:71389T00

Usted es responsable de determinar la capacidad
de carga de la pared y la fijacion del soporte de
pared.

Debido a la variedad de materiales de construccion
de las paredes y, por lo tanto, a los diferentes
tipos de fijacion, no hemos adjuntado ningtn
material de fijacion.

Debe adquirir el material de fijacion adecuado
para su pared en un comercio especializado.

En caso necesario, consulte a un experto en
construccion.

Asegurese de que no hay ningun cable o tubo en
la zona de los orificios.

Wall Mount Slim VESA Size 300

Art.-Nr.:71391700

VESA Size 100

Art.-Nr.:71388T00




B Wall Mount Isoflex / Vesa Size Adapter 4-

Maontageanleitung Instructions de montage

Montage-instructies Istruziont di montaggio

Installation instructions Instrucciones de moritaje
Abmessungen @ Afmetingen D) Dimensions
Dimensions ) Dimensioni O Dimensions )

™ BxH
individual 32 LED/3D 801 x 594 mm 163 mm
Individual 40 LED/3D/Sound 1000 x 617/697 mm 211 mm
Individual 46 LED/3D/Sound 1133 x 692/772 mm 249 mm
Individual 55 LED/3D/Sound 1326 x 805/885 mm 305 mm
Connect 22 543 x 356 mm 33 mm
Connect 26 662 x 428 mm 77 mm
Connect 26 SL LED 687 x 456 mm 118 mm
Connect 32 LED/3D 814 x 534 mm 145 mm
Connect 40 LED/3D 1002 x 625 mm 250 mm
Art 32 LED 798 x 542 mm 143 mm
Art 37 LED 907 x 592 mm 194 mm
Art 40 LED/3D 984 x 646 mm 249 mm
Art 46 LED/3D 1113x721 mm 323 mm
Xelos 32 780 x 512 mm 107 mm
Xelos 40 970 x 592 mm 186 mm
Xelos 46 1103 x 698 mm 223 mm
Xelos 32 LED/Media 798 x 542 mm 143 mm
Xelos 40 LED/Media 984 x 646 mm 249 mm
Connect ID 32 747 x 494 mm 160 mm
Connect ID 40 931 x 599 mm 266 mm
Connect 1D 46 1064 x 674 mm 340 mm

T SN




B Wall Mount Isoflex / Vesa Size Adapter -5-

Montageanleitung Instructions de montage

Montage-instructies Istruzioni dj montaggio

_Installation instructions  Instrucciones de montaje
Wall Mount Isoflex montieren @ Wall Mount Isoflex monteren aw Installing the Isoflex Wall Mount
Montage de Wall Mount Isoflex @ Montare Wall Mount Isoflex D, Montaje del Wall Mount Isoflex D)

@

Verletzungsgefahr: Achten Sie wahrend der Monta-
ge darauf, sich nicht die Finger im Klappmechanis-
mus des Wall Mount Isoflex zu quetschen.
Bohrldcher fir Montage des Wall Mount Isoflex (A)
entsprechend Grafik und Tabelle anzeichnen

Wall Mount Isoflex beim Festschrauben mit Wasser-
waage waagrecht ausrichten.

P2 Wall Mount isoflex mit 6 Wandschrauben (6 mm)
an der Wand festschrauben.

2 Sicherungsbolzen (C) in Montageplatte stecken

@

Gevaar voor letsel: let tijdens de montage erop dat
u uw vinger niet in het klapmechanise van de Wall
Mount Isoflex drukt.

Boorgaten voor montage van de Wall Mount Isoflex
(A) volgens grafiek en tabel markeren

Wall Mount Isoflex bij vastschroeven met waterpas
horizontaal houden.

Wall Mount Isoflex met 6 wandschroeven (6 mm)
aan de wand vastschroeven.

2 Veiligheidsbouten (C) in montageplaat steken

Danger of injury: be carefui that during the instal-
lation you do not squash your fingers in the hinge
mechanism of the Isoflex Wall Mount.

Mark the drill holes for the installation of the Isoflex
Wall Mount (A) in accordance with the graphics
and table.

Align the Isoflex Wall Mount horizontally with a
spirit level when fastening with the screws.

78 Screw the Isoflex Wall Mount firmly to the wall with
~ 6 wall screws (6 mm).

Insert the 2 securing boits (C) into the mounting

plate
@

Risque de blessure : pendant le montage, veillez &
ne pas vous coincer ies doigts dans le mécanisme de
serrage du Wall Mount Isoflex.

Tracez les trous du Wall Mount Isoflex (A) selon e
schéma et le tableau.

Alignez Wall Mount Isoflex a I'horizontale lors de la
fixation par vis en utilisant le niveau & bulle.

Visser Wall Mount Isoflex sur le mur avec

6 vis murales (6 mm).

Enfichez 2 axes de blocage (Q) dans la plaque de

montage.
@

Rischio di lesioni: durante il montaggio prestare
attenzione a non schiacciare le dita nel meccanismo
pieghevole di Wall Mount Isoftex.

Contrassegnare | fori per il montaggio di Wall
Mount Isoflex (A) secondo il grafico e la tabella
Durante il fissaggio delle viti verificare che Wall
Mount Isoflex si trovi in piano con una livella a bolla.
Con 6 apposite viti (6 mm) fissare Wall Mount Isoflex
alla parete.

Inserire 2 perni di fissaggio (C) nella piastra di
montaggio

@

Peligro de aplastamiento: tenga cuidado durante el
& montaje de no pillarse los dedos con el mecanismo
abatible del Wall Mount Isoflex.
Dibuje los agujeros de perforacién del Wall Mount
Isoflex (A) conforme al grafico y a fa tabla
Nivelar horizontalmente el Wall Mount Isoflex con
un nivel de burbuja af atornillarlo.
Fijar el Wall Mount Isoflex con 6 tornillos para mam-
posterfa (6 mm) a la pared.
Introducir 2 pasadores en fijacion (C) en la placa
de montaje

100 cm
85cm
210cm




B Wall Mount Isoflex / Vesa Size Adapter -6-
Montageanleitung Instructions de montage

Montage-instructies Istruzioni di montaggio
Installation instructions Instrucciones de montaje

@

1/ VESA Size Adapter mit 2 Schrauben (E) an Siche- D @\

rungsholzen (C) der Montageplatte festschrauben /
2 Randelschrauben (B) in untere Lécher der zur N
Wand zeigenden Seite der Montageplatte eindrehen. o

i Achtung! TV-Gerét muss bei der Montage von 2 =
Personen gehalten werden! ==

& Montieren Sie nun die Zubehdrteile des Adapters an
Ihrem TV-Gerat und befestigen Sie lhr TV-Gerit am
| Adapter so, wie es in der Montageanleitung ihres
VESA Size Adapters beschrieben ist.

()

&
L5
[
1| VEZA Size Adapter met 2 schroeven (F) aan % 4
:
B/
[
s

veiligheidsbouten (C) van de montageplaat vast-

schroeven

2 Kartelschroeven (B) in onderste gaten voor de

muurkant van de montageplaat indraaten.

.y Let op! TV-apparaat moet bij de montage door 2
personen worden vastgehouden!

Monteer nu de extra delen van de adapter aan uw S "f
tv-apparaat en bevestig uw tv-apparaat aan de o . ‘\\\
adapter zoals het in de gebruiksaanwijzing van uw o L
VEZA Size Adapter is beschreven. o

il Screw the VESA size adapter with 2 screws (E) to
the securing bolts (C) of the mounting plate.

B Screw the 2 knurled screws (B) into the lower holes
of the side of the mounting plate which is facing
the wall.

. Caution! The TV set must be held by 2 persons
during installation!

& Now fit the accessory parts of the adapter to your

TV set, and fasten your TV set to the adapter as
described in the installation instructions of your
VESA size adapter.

@

Vissez 'adaptateur VESA Size avec deux vis {E) sur

I'axe de blocage (C) de la plaque de montage.

Vissez 2 vis moletées (B) dans les trous inférieurs de

face murale de la plague de montage.

4.y Attention ! Lors du montage, le téléviseur doit étre
tenu par 2 personnes !

& Montez a présent les accessoires de |‘adaptateur sur
votre téléviseur et fixez le téléviseur sur I'adaptateur,
comme décrit dans la notice de montage VESA Size.

@

Con 2 viti (E) fissare VESA Size Adapter ai perni di
fissaggio (C) della piastra di montaggio

Awvitare 2 viti a testa zigrinata (B) nei fori inferiori del
lato rivolto verso la parete della piastra di montaggio.
.q Attenzione! Durante il montaggio il televisore deve
essere sostenuto da 2 personel

A questo punto montare gli elementi accessori
dell'adattatore sul televisore e fissarlo all'adattatore, ij

seguendo le istruzioni di montaggio di VESA Size
Adapter.

@

Atornillar firmemente ef VESA Size Adapter con 2
tornillos (E) al pasador de fijacion (O) de la placa de
montaje

Atornillar 2 tornillos moleteados (B) en los agujeros VESA

inferiores de la cara de la placa de montaje que mira

hacia la pared. s
.y iAtencién! El televisor debe ser sujetado por 2 S'Ze
personas durante el montaje a la pared.
ke
Monte a continuacion los accesorios del adaptador Ada pter

a su televisor y fije el televisor al adaptador taly
como se describe en las instrucciones de montaje

del VESA Size Adapter. /




B _Wall Mount Isoflex / Vesa Size Adapter -7-

Montageanleitung Instructions de montage
Montage-instructies Istruzioni di montaggio
Installation instructions Instrucciones de montaje

@

ZZ sobald Ihr TV-Gerat am Wall Mount Isoflex befestigt
ist, konnen Sie die Neigung des TV-Gerats einstellen, 1—1

indem Sie die 2 Réndelschrauben (B) in der Riickseite
der Montageplatte drehen.

Ziehen Sie den Gewebeschlauch (F) Gber die aus i‘
dem Kabelfach hdngenden Kabel. fl

@

§7 Zodra uw tv-apparaat aan de Wall Mount Isoflex
is bevestigd, kunt u de helling van het tv-apparaat
instellen, als u de 2 kartelschroeven (B) in de achter-
kant van de montageplaat draaien.

Trek de weefselbuis (F) over de uit het kabelvak

hangende kabel.

B2 Assoon as your TV set is fastened to the Isoflex Wall
Mount, you can adjust the angle of the TV set by
turning the 2 knurled screws (B) on the rear of the
mounting plate.

5 pul the fabric sleeve (F) over the cables hanging out
of the cable compartment.

@

B8 Des que le téléviseur est fixe sur Wall Mount Isoffex,
vous pouvez régler son inclinaison en tournant les
2 vis moletées (B) sur la face arriere de la plaque de
montage.

2l Passez la gaine en tissu (F) au-dessus des cables
sortant du compartiment a cables.

@D

= Dopo aver fissato il televisore a Wall Mount lsoflex, &
- possibile regolamne I'inclinazione, ruotando le 2 viti a
testa zigrinata (B) sul retro della piastra di montaggio.

Tirare la guaina di tessuto (F) sul cavo che pende dal
vano portacavi.

®

B2 Una vez que su televisor se encuentre montado al S
Wall Mount Isofiex puede ajustar la inclinacion del
televisor girando los 2 tornillos moleteados (B) en la

parte posterior de la placa de montaje.
BF Introduzca el tubo flexible (F) sobre los cables que

- cuelgan del compartimento de cables.

L DN TN

)
3
I




B Wall Mount Isoflex / Vesa Size Adapter -8-
Montageanleitung Instructions de montage
Montage-instructies Istruzioni di montaggio
Instalfation instructions Instrucciones de montaje

@

Befestigen Sie den Gewebeschiauch (F) mit 3 Klett-
bandern (D) an den Osen des Wall Mount Isofiex.

Der Gewebeschlauch muss so befestigt werden, dass
& er frei beweglich ist und die Kabel nicht gequetscht
werden kénnen.

@D

N

Bevestig de weefselbuis (F) met 3 klittenbanden (D}
aan de ogen van de Wall Mount Isofiex.

De weefselbuis moet zo worden bevestigd, dat hij
& vrij beweegbaar is en de kabel niet geklemd kan
worden.

Fasten the fabric sleeve (F) with 3 Velcro tapes (D)
to the eyelets of the Isoflex Wall Mount.

The fabric sleeve must be fastened in such a way
& that it can be moved freely and that the cables can
not be squashed.

@

Fixez la gaine en tissu (F) avec 3 bandes autoagrip-
pantes (D) aux ceillets du Wall Mount Isoflex.

La gaine en tissu doit &tre fixée de maniére a ce
& qu'elle puisse bouger librement et les cables ne
solent pas coincés.

@D

Fissare a guaina di tessuto (F) con 3 fascette di
velcro (D) agli occhielli di Wall Mount Isoflex.

La guaina di tessuto deve essere fissata in modo
& tale che si possa muovere liberamente e il cavo non
venga schiacciato.

®

Fije el tubo flexible (F) con 3 cintas de velcro (D) a
las corchetas del Wall Mount Isoflex.

& El tubo flexible se debe fijar de forma que pueda
moverse libremente y no aprisione los cables.

Wall Mount Isoflex 32-55
Art. Nr. 71363B00

Printed in Germany

Anderungen vorbehalten

Wijzigingen voorbehouden

Subject to modifications
Modifications reservée

Con riserva di modifiche

Reservado el drecho a modificaciones

Deutschland

Loewe Opta GmbH
Customer Care Center
Industriestrafe 11
D-96305 Kronach
D-96317 Kronach
Telefon 01801/22256393
Telefax (09261) 99500




